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Qe Af<h YW & Uk Zehs Rl ATfeich & oI IR A1l offd el 8, 31d: ITH STeptd 1fAard gt gehl 8, wilfeh ag
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“Q A aTelt! STt @ gH = hArT 8 3R S o ga= TR AT exdl & Aehren & 39 9 @9 1”7 (YRgel Th
267)

Holiige A AT : “Sit e gH = w8 & Sifaumy fasrd 8l

STl deh g4I § UHTUT <l ITd & af 3¢ a1 (8419 T&AT : 1562) % e fo Sigar & Rarua foa g foh 381 = ket
: STeelTE oh UTTeR Hewleellg Selle & Hootd §H NS & U foh &7 St o o o [y dR &ed § 394 et
fAenret 1

2 g4I <hl TG H $© d1d hal 75 8, fohd $o fagHi A 38 g8 &gl 8, 919 foh 37 aregdl &R AgAgeatrg, R &t
TR 3T hl Wt 9fAfa & fagmt a Fek frar g1

AT : warar @ gfafa (9/331).

37d: St e i fAsTRA & foig daR fohar Sirar @ I9H Serrd sifard € STefes ag fAare st uga S iR 39 W 91e
&9 SIa|

3 YR W, UH A dlel T8, HTUh! a8 YA O iR 91eT ¥R <l 31af®) sfid bt & 39T Sientd Heprerar srfAard
2, 39 TSR foh 31T TTeT & Sfd H ISP e hl TR B o 3R aTeiiaat 5= (2.5 %) Fepre &, afe Iaemr gea
JETER0T oh dR TR Ueh ARG SIFR & df 31TUeh IUR 3118 UfdRrd (2.5 %) 37T &t g9IR Ui It STehrd SifHard 8.
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gfe 3TUch UTH AIeha O § af Iht SiehTd H HepterT SfAard 8, 3R FTehrd o fAdhre it 4 & s deh faeia
AT SIS 6l 8, ol a1d g foh amuch urd 99 =161 & [9i=8 31y STerrd # fAehre Ik, at a8 31U & HUR et gl
S8 ST e o THY 31aT e, Tl 3much folg ST 8T 81 Gehl Tl deh foh ST 3 of o= & ot 3mush IW
ff Y hia & 37 Tt Trelt ht Frenrd Feptern sifferd 8 o= Seprd sifAamd g3 81

G e ST AgHAgeeITg A AR

“fISTR o folq dIR ot 718 7 7 STehra 1fAard 8, 3iR et THT0T 9RE fod SHgd ISideeng g ot Ul
g4 ¢ b 381 A gt : SreTe & ieR oletlg Seife T Toord A g1 ST fea foh g0 St 3 det & fog R
P & ITY el HepTel 1” 31T eeleellg STeife T Tootd ol Tgl UR Ueeh! 9 Hderd STehld 1" 3id g

aur I8l A ag Wt et foh

g A 3R 3 TAM JH TR 3R TSt 3R 39 THM Aot [deTRd 3R ATIR & folg IR &1 715 €, af 91t g0
B TR & 9Tl 37ch o4 o f291e & Ih! FiepTd fHehrett SIa, 3R S9! faede eheT St -1gi 8, Far 39
f<h o STt 3704 UT Ich 37T hig 310 91 HISIG - 814 oh BRUT SIehTd [Hehlel= & 3rgHef g1, at 39k forg
HigeTd & Tgl doh foh I 39 & 3R Tt Tl hY FTehTd FepTet, 8= ATeT T ST AT URT 81 o THT IThI hidd &
feaTa & Feptel, aTe a8 thivd 39 Jou ¥ 31fdeh a1 d gt o & JfF a1 Mt @SH 71 §1” Sid gl

“HST3A thdTal &4 a1o1” (14/160,161).
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